
日にち： 月 日

名まえ
２

② 確認

２ 0 0 0ｍ3⑤ 2000L =

③ ２cm3 = ｍL

・ にあてはまる数を書きましょう。(うすい字はなぞりましょう。)

1

1 0 0 0 0 0 0

① 1000000１ｍ3 = cm3

m3

cm3

３

３ 0 0 0

② ３L = cm3

cm3

mLLm3

cm3

２

２
cm3

1
m3

L

㎡

mL

L

④ １ｍ3 = L

cm3

mLLm3

cm3

mLLm3

cm3

mLLm3

cm3

mLLm3

L



日にち： 月 日

名まえ
２

② 確認 答え

2 0 0 0

2

ｍ3⑤ ２2000L =

③ ２２cm3 = ｍL

・ にあてはまる数を書きましょう。(うすい字はなぞりましょう。)

1

1 0 0 0 0 0 0

① 1000000１ｍ3 = cm3

m3

cm3

３

３ 0 0 0

② 3000３L = cm3

cm3

mLLm3

cm3

２

２
cm3

1

1 0 0 0
m3

L

㎡

mL

L

④ 1000１ｍ3 = L
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mLLm3

cm3
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L




